KK 2

10D 100Dx 00

100x1000xF00

10
[
4]

10

a

B1/v1 IW

40U0x0Bx00

®
S10m
=)
5 <= |8
- || .
=]
(7]
m2
© .. .. - =<
AREIEEIHEHEB
ale| el E|E|2| 2L
Abnna.movea,B
O N| O] LW = 0|0
=
@
N
o
S ]
& bt
® L
A 2
[\ k \ £ -~
5 212 s o
6 2 58 @
N| g c e F o2
g8 c¢ 8 9%
= ST G B~ = s | . (7]
L | »| o| © ) Y
2 ¢Sl g g E g =| Q@
o flo < <| £ S v
[&]
> ]
i S| =
S — (®)
8 =
z ®© ©
= . m X
— 1 .
X [ Le
< 2| © (1)) @
8 s .58 4 6| =
> L) 2 |@ | 5| &
gl 5|39 < o
a3 & =8 P o
>
R= ©
mu ]
~
IL | Qceoge
E ¢ %)
oo 0
B g i:N
o=l .. .
] em@a7tu z
.v.v 0 ~N~0 mW N
> Loz @ Ey]
H”_- _HUV74 m¢ - m z| X wm
-l-ld - 3 hww ,ww N
0 >
=7 3 |3
d Rk
O Nog
P4 P4
Q
g &
Y
v a
@ o
(7]
O o
7, B
o =
s 'c
.om
C N
& N
9 o
3 C
‘0 -0
> >
o o
c C
|
|
. |
<
=)
=
(]
a I
w
-

Bl/br N

s

ai/p7 I

082"

-240

___ MT 14/10

'
v

Bl/p;
]
96¢e=
Ql/p1
Y
s

1BBDOx1000xS00

92
i 14/18

..\3_vykresy\Schema.dgn 5.6.2020 15:22:11




